Answers -
Recognising Parenthesis

la. A uses a pair of commas. B uses a pair of
dashes.

2a. The children - who were going to the zoo
on a school trip - had to be in school for half
past eight.

3a. The frim-trail, which had been recently
installed in our playground, was enjoyed by all
the children.

4q. A is false (brackets have been used). B is
true.

Application and Reasoning

la. A

2a. Cian has correctly used a pair of commas
for parenthesis. Hafsa has missed a comma
before ‘which'.

3a. B does not use punctuation for
parenthesis, it uses a comma in a list.

Answers -
Recognising Parenthesis

1b. A uses a pair of brackets. B uses a pair of
commas.

2b. The spotty dog, which lives at the end of
our street chases after the postman.

3b. The alien -which was green with yellow
eyes -had three heads.

4b. A is true. B is false (there is no
parenthesis).

Application and Reasoning

1b.B

2b. Sean has correctly used a pair of dashes
for parenthesis. Chuan has only used one dash
instead of a pair. There should be another
dash after 'day’.

3a. A does not use punctuation for
parenthesis, it uses a comma in a list.



